TR2TFE HIFHPMFARERERFTNZHESE (FRGEEV5-)

(FER28F2H ~Fp285%F4R)

-E51%S

2,578,731 M Tmi28FEE 1 FHSEFARE

<A DER> (B4 F)
15 = HOE & R A %8 R A X K & i =
1 FRIEEE 77,220,870 74,900,880 2,319,990
1 INERRIABE 74,291,430 73,919,150 372,280
2 FIEBHEE 294,730 294,730 0
3 BI(1-2) 2 RFLE 952,360 576,800 375,560
4 BEFESKRFEE 1,682,350
s TR B 0 110,200 1,572,150
6 FNih — — —
2 RBSE 39,360 39,360 0
1 PTAZHBSE 39,360 39,360 O|12@E=HE- E~ 164450
3 BHs 5,341,257 5,341,257 0
1 BIFHARES 5,341,257 5,341,257 0[BT IR KR EEN S
2 RIFEERREE — — —
4 HULA 7,500 7,500 0
1 FEHREE 7,500 7,500 O|EE# 6,000/, E&R—)L 1,500/
2 FNih 0 0 0
(= &t 82,608,987 80,288,997 2,319,990
<ZHDOER>
IH = X R TE & X H % * . % lim =
1 HBEMHE 77,710,266 77,710,266 0
1 XBE 332HATE 10,546,247 10,546,247 OK-/\ -1t %%
2 AR .55 1,586,865 1,586,865 0
2 BElBE 3®ATE 60,105,119 60,105,119 0|4t e%%
2 HAK LR 5,472,035 5,472,035 0
(=) &t 77,710,266 77,710,266 0
* T HRERE= X 4B+ R 158
IR A $A%E 80,288,997 H
- HH{R%E 77,710,266 H




FR27FE F3FH P FRIGRERNNIHEEFREREEVS)

(FRi28%F 28 ~F i 28F4H)

<IRA D E > (B4 1)
15 E A & % R A & | IR A * & % & Z
1 PRIGEE 40,604,340 39,653,697 950,643
1 PEREBE 38,926,950 38,874,150 52,800
2 IS BE 566,870 566,870 0
3 f1(1.2) FHIK FEE 207,960 163,200 44,760
4 BEREXRFLE 902,560 49,477
5 R RIB%E 0 0 853,083
6 FDih — — —
2 RBSE 0 0 0
1 PTAZHBSE 0 0
3 BHE 3,338,072 3,338,072 0
1 RIRHAfgHE 3,338,072 3,338,072 O|FI AN IREEN D
2 HIEERES = = -
4 FIRA 6,229 6,229 0
1 BEHAEE 6,229 6,229 O|Bem 4900M . EBAHR—JL1329M
2 ZDih 0 0
& it 43,948,641 42,997,998 950,643
<X D>
i} B X R EFBE] X H & * i % B E
1 REMHE 41,832,447 41,832,447 0
1 TBEGEHAESE) 5,679,846 5,679,846 O[k-/3 - FEREE
CETEXIR) 1,081,584 1,081,584 0
2 BT EHATE) 32,523,537 32,523,537 NEE T L
CETESN ) 2547480 2,547,480 0
& it 41,832,447 41,832,447 0
- IR A ¥ & 42,997,998 M
- X H s 41,832,447 B
IR E- 1,165,551 A FRi28EESE 1S5t~



